\2.5. Ecbw\-’(ons ok lines and ?\omcs

NO\’C gy order 4o s?etl@:) a \’me ™ \9:5 ‘ jou need

one of ke Lollowing Sata -
« fwo powmts on he Iwe
- 0 point and o direction vedtor |
«M The live through the  point Olo Yo Be)  wivk
o diveckion vector V= (ab ) T pqmme{-r“(%eé by

k) = Cotat, Yorbt, Zvct) . teR

V= (@b s Explanation
—) -
%) (VN ?qm\\e\ fo (X=de,Y~Yo,2-%)
ok D tWr ) = (Rdo, Y-Yo, 2-%)

R_i\i There ave Uwavﬁ\‘e\jX AN dcfherewt ways o
paamelrize o given Ve, degendy ow +he
hoite & o ?o‘w\\- ond o diveckion  Vedror
€.9. The X-adls T pavamebrizel by

Euﬂz (t,000) = (0/0,0)% t(l|,0,0)

T t) = (\42t,0,0) = (1,0,0) *+ (2,00)



NO\’C, Tw order o s?e&‘$3 a \)\ome (] (Ro’, you need

one of +he ‘Go“ow?ws data -

* three ()O‘(W\'S on  the ?\ome

« Q\ po?vn\‘ 0«\3 a  wormal vecdrov
[}

perpen & culaw

wm The plane Haowgh the  poat  (do,Yor Bo)  wit
o norwmal Vector W= (a,%C) TS gluewn by
+he ‘GD\\Q\J(V\Q equaalion :
ACK=Ko) ¥ bCYy-Yo) + CCB-%) =

V\ 2 (ab.0O E&v\m\m\-(ow : ﬁ\
‘H;) T\‘ I3 oﬁ\'\oﬁw“\ to U*“io-‘j“\o. T-%o)
xo.qo %) D (a,b,¢)* (A-%e,Y~Yo, B-F) =0 J

RW\\4 Q) The albove eﬂouaf(a‘/‘ Can  also be wertten as

axtby+ (b =d with d= —Q%e by~ CTo
(2) The welficients of +he egioiiov degend on

+We dhoice of o wermal  vector

€.9. The xy-plane g gluen by
=0 & o Xtoygtl-T=o (W= (0,0.1))
32=0 &) 0 R+ O Y+ 3T =0 (W= (0.9,M)



Ex Vaawmetrize +he Gllowing \es
W) The le through A=(2.00) and B=(3,2,)

So\ A divetton vedor is AR = (1,2, ~2)

T
/B'jﬂ,.‘)_‘-\)
A= (?-\01\)

""‘\Tl‘d‘\‘- (a+t, ot2f, 1-28), +teR

\

Note You can use the psud B = (32,-\) o aer

a dikkerent pavo mete( Tation -

TW) = (3+t, 2428, -\ =2t) . teR

(2) The lme twough C= OA25) wwidh
\)ervev\é‘&cu\ov o +he Q\QV\Q 2K - 3* 32 = l;

So\ -
- Ltﬂ A divedfion vector (& qen

n = (% 25)
\ l b4 a wormal vector
W=(2,-\,3)

wtm‘m- (342t 2-, S+3t), LR




B_ Fd an equakion &  the ?\cme which passes
-\-\Awwg\\ P= .5\ and  ondains +the Ywe
Tct) = (4-t, at -\, =3¢).

P=»51)

Choose  +wo  potwis  ow T :

R=T) = @&, 0), R=QTw =(3,\,-3).
A normal vector W should e ?ev?ev\c\?cu\m-
fo oth TP aed GR

2 W= xR = (1,61 )% (-1,2,-3)

= (-20,-4.4)

~) tlocx-%) —4-(3-5) + 4(2\) ‘—OJ

Note You can alse use +we paitt & or R 4o get

the Sawe eﬁﬁl\t\\"(w\.



Ex Fmd the Set of oll pots whidh ave equidistant
fom P=(2,1,3) and @=(43.1).

g_c'\. We ‘36\' Wnts Gom o gmdar Pro\o\ew\ ™ \Rz.

e Ia R e T R

eabu\'(AZs’ruw\‘ ine e Jichant p\cme

The wﬂc\?o'iw\- betrween % w«) Q ¢
M= (B2 22 )= (3,0,2)

2, 22, =

—\
A woemal vector <o c§uev\ by PR = (2,4, —-2)

~|2073) - 4Ly - 2E2) =o|

Rmk Vou con o\so WUse the  Stsawnce focmula

Diskonce ‘GVO\M P = Diskonte fom Q0

2 X L 2
= \\ (H=2) + q-\)z-% (-3 = SLX-A«) +(4+3) 1 (31)
\(W\ @awn §(w\e\-&sf‘3 s e‘b.v\w\’(o\n +o ﬁc\-

e came owmswevr



